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PrERERR - T oA

C /Y stdlib.h #EHY bsearch()

1 #include <stdlib.h>
2 int comp(const void *a, const void *b) { return *(int*)a-*(int*)b; }

3intd, dO, d1, d2, d3, m=6, idx[]={2,5,7,8,12,13}, *ptr;
4 char tab[]="CABEFE",

5d=d0*8 + d1*4 + d2*2 + d3;
6 if ((ptr=(int*)bsearch(&d, idx, m, sizeof(int), comp))!=NULL)
7 printf("%c", tab[ptr-idx]);
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« C 1y stdlib.h #HEAY bsearch()

« C++ 7y algorithm #EHY lower_bound()

(48)

|

1 #include <algorithm>
2 using namespace std;

3intd, dO, d1, d2, d3, m=6, idx[]={2,5,7,8,12,13}, *ptr;
4 char tab[]="CABEFE",

5d=d0*8 + d1*4 + d2*2 + d3;
6 if ((ptr=lower_bound(idx, idx+m, d))&&(*ptr==d))
7 printf("%c", tab[ptr-idx]);
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C iy stdlib.h #E Y bsearch()
C++ gy algorithm # &Y lower_bound()
HCEEZERHY lower_bound()

01 int *lower_bound(int *begin, int *end, int target) {
02 int mid, *result=end;

03  while (begin<end) {

04 mid = (end-begin)/2;

05 if (*(begin+mid)>=target)

06 result = end = begin+mid;
07 else

08 begin += mid+1;

09

10  return result;

1}

12 int d, d0, d1, d2, d3, m=6, idx[]={2,5,7,8,12,13}, *ptr;
13 char tab[]="CABEFE":

14 d = d0*8 + d1*4 + d2*2 + d3:

15 if ((ptr=lower_bound(idx, idx+m, d))&&(*ptr==d))
16 printf("%c", tab[ptr-idx]);
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1] [17
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AN
a][8] [13
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e [ C++ STL Yy map
M AGEALLESE R — L8 > BB E » AV =S
tERER - 201 APCS i lifVEh S E R EN LA
A2l — S =45 (balanced binary search tree)
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"0010" | 'C
"0101" | A
"0111" | 'B
"1000" | 'E
"1100" | 'F
“1101" | 'D’
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HENGEALLEE M — L8 - (B2 5 [EFIRVAE =S
W RAER - 2001 APCS e llnysh & ESHRER A

A2l — S =45 (balanced binary search tree)

e BB — P F B E R [T E

el fEEg

1 #include <map>

2 #include <string>

3 #include <cstdio>

4 using namespace std;

5 map<string, char> decoder = {{"010 1", 'A'}, {"0 1
6 {o010%,'Ct,{"1M101",'D}L, {"1000"'E}, {"1 1

7 char buff10];
8 fgets(buf, sizeof(buf), stdin); buf[7] = 0;
9 printf("%c", decoder[buf]);
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e RIER - 200 APCS e fllHVEE B2 ERFSREN T A
A1 — e =48t (balanced binary search tree)

et Bt DL R E RS [T T & RHES

1 #include <map>

2 #include <string>

3 #include <cstdio> decoder["'0 1 0 1] ="A";
4 using namespace std;

5 map<string, char> decoder = {{"01 0 1",'A"}, {"01 11", 'B"},
6 {o010%'Ct,{"1M101",'D},{"M000",'E},{"1100",'F} };

7 char buf[10]; ﬁfc b B R R IEN
8 fgets(buf, sizeof(buf), stdin); buf[7] =
9 printf("%c", decoder[buf]);

o
st

"’
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M AGEALLESE R — L8 > BB E » AV =S
e RiER - 201 APCS fflifEE 2 ERSREN TR
A2l — S =45 (balanced binary search tree)
Rttt Bt E—(E LT B E RS [T T &S

1 #include <map>

2 #include <string>

3 #include <cstdio> decoder["'0 1 0 1] ="A";
4 using namespace std;

5 map<string, char> decoder = {{"01 0 1",'A"}, {"01 11", 'B"},
6 {o010%'Ct,{"1M101",'D},{"M000",'E},{"1100",'F} };

7 char buf[10]; IERHEL A T EENR P

8 fgets(buf, sizeof(buf), stdin); buf[7] = 0; =5 o &4 ss== sz (HlERE
9 printf("%c", decoder[buf]);
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e [ C++ STL Yy map
M AGEALLESE R — L8 > BB E » AV =S
e RiER - 201 APCS fflifEE 2 ERSREN TR
A2l — S =45 (balanced binary search tree)
Rttt Bt E—(E LT B E RS [T T &S

1 #include <map>

2 #include <string>

3 #include <cstdio> decoder["'0 1 0 1] ="A";
4 using namespace std;

5 map<string, char> decoder = {{"01 0 1",'A"}, {"01 11", 'B"},
6 {o010%'Ct,{"1M101",'D},{"M000",'E},{"1100",'F} };

-1
it

7 char buf[10]; ERHEERATFEEIRY
8 fgets(buf, sizeof(buf), stdin); buf[7] = 0; =5 @4 st 72 E W lERE
9 printf(*%c", decoder[buf]); ] DR AHES « ARSI R
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PR ([

bepa it ERtGE — M L I F S E R RS WY F e E RS

Ztdr {8 =157 (balanced binary search tree)

| #include <mab> s 5]y 1 223 [T B4R

2 #include <string> R .
3 #include <cstdigo> J@ﬂ%éﬁﬁﬁfﬁ%ﬁﬁ%% [?E

4 using namespace std;

5 map<string, char> decoder = {{"01 0 1",'A"}, {"01 11", 'B"},
6 {o010%'Ct,{"1M101",'D},{"M000",'E},{"1100",'F} };

7 char buf[10]; ICERHE R A R ENE]

Iy o

i
8 fgets(buf, sizeof(buf), stdin); buf[7] = 0; =5 @4 st 72 E W lERE
9 printf(*%c", decoder[buf]); ] DR AHES « ARSI R
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Ztdr {8 =157 (balanced binary search tree)

|ncuce sman”  IbEFIH R RS [T - B4

2 #include <string> R .
3 #include <cstdigo> J@ﬂ%éﬁﬁﬁfﬁ%ﬁﬁ%% [?E

4 using namespace std;

5 map<string, char> decoder = {{"01 0 1",'A"}, {"01 11", 'B"},
6 {o010%'Ct,{"1M101",'D},{"M000",'E},{"1100",'F} };

7 char buf[10]; ICERHE R A R ENE]

Iy o

i
8 fgets(buf, sizeof(buf), stdin); buf[7] = 0; =5 @4 st 72 E W lERE
9 printf(*%c", decoder[buf]); ] DR AHES « ARSI R
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